

BID BULLETIN 01

Date: 05 March 2024

Project Title: Supply and Delivery of Office Equipment (VSU-GOODS-24-22)

Location: VSU Main, Visca, Baybay City, Leyte

Bidders are hereby informed/reminded of the following addendums/amendments/clarifications:

I. LIST OF REQUIREMENTS

Legal Documents	
1	PhilGEPS Certificate of Registration (Platinum)
Technical Documents	
2	Statement of All On-Going Government & Private Contracts
3	Statement of Bidder's Single Largest Completed Contract (at least 50% of the ABC or Php 1,875,000.00 .
	Or
	Statement of at least two (2) similar completed contracts w/ total amount of at least Php 1,875,000.00 and the largest of which should be at least PhP 937,500.00
4	Bid Security
5	Technical Specifications
6	SCHEDULE of Requirements/Production and delivery schedule
7	Manpower Requirements
8	After Sales service/parts from acceptance of delivered goods (at least 1 year for equipment)
9	Original Duly Signed Omnibus Sworn Statement
Financial Documents	
10	The Supplier's Audited Financial Statements
11	Net Financial Contracting Capacity (at least Php 3,750,000.00)
	Or
	Committed Line of Credit (at least Php 375,000.00)
(2 nd Envelope) FINANCI	AL COMPONENT ENVELOPE
12	Original of duly signed and accomplished Financial Bid Form
13	Original of duly signed and accomplished Price Schedule(s)



Please take note:

- 1. In the **Technical Specifications**, bidders must state either "Comply" or "Not Comply" <u>against each of the individual parameters of the specifications</u> per item stating the corresponding performance parameter of the equipment offered. Statements of "Comply" or "Not Comply" must be supported by evidence in the **Bidders Bid** and cross-referenced to that evidence. Evidence shall be in the form of manufacturer's un-amended sales literature (**Data Sheets**), unconditional statements of specification and compliance issued by the manufacturer, samples, independent test data, and Brand and Model as appropriate. A statement that is not supported by evidence or is subsequently found to be contradicted by the evidence presented will render the Bid under evaluation liable for rejection. A statement either in the Bidders statement of compliance or the supporting evidence that is found to be false either during Bid evaluation, post-qualification or the execution of the Contract may be regarded as fraudulent and render the Bidder or supplier liable for prosecution subject to the provisions of **ITB** Clause 3.1(a)(ii) and/or **GCC** Clause 2.1 (a)(ii).
- 2. Bidders are advised to use the latest GPPB forms for the following documents:
 - a) Omnibus Sworn Statement
 - b) Performance Securing Declaration (if applicable)
 - c) Price Schedule for Goods Offered
 - d) Bid Form
 - e) Bid Securing Declaration

These forms can be accessed from the GPPB website: https://www.gppb.gov.ph/downloadables.php. Documents that are not in its updated/latest format shall be a ground for disqualification of the bidder.

- II. Preparation of Electronic Bid (for bidders who prefer electronic bid submission)
 - 1. Scan per document into Portable Document Format (PDF) and should be printable.
 - 2. Properly label all scanned documents for prompt identification. Filename of documents, whichever are applicable to the bidder, should be as follows:

	Document	Filename (in PDF form)
1.	PhilGEPS Certificate of Registration (Platinum)	PhilGEPS
2.	Statement of On-Going Government	Statement of On-Going
	& Private Contracts	Contracts
3.	Statement of Bidder's Single Largest Completed Contract	SLCC
4.	Statement of at least two (2) similar	Statement of Completed
	completed contracts	Contracts
5.	Bid Security	Bid Security
6.	Technical Specifications	Technical Specifications
7.	SCHEDULE of Requirements/	Schodula of Paguiroments
8.	Production and delivery schedule	Schedule of Requirements
9.	Manpower Requirements	Manpower Requirements
10.	After Sales service/parts	After Sales
11.	Omnibus Sworn Statement	Omnibus Sworn Statement
12.	Audited Financial Statements	Audited Financial Statements
13.	Net Financial Contracting Capacity	NFCC
14.	Committed Line of Credit	CLC
15.	Bid Form	Bid Form
16.	Price Schedule	Price Schedule



3. Create two (2) folders that are password-protected. The first folder should contain all requirements under Technical Component checklist as presented under Section VIII.

The second folder should contain all requirements under Financial Component checklist.

- 4. Compress the two (2) folders and name as follows: a) first folder: **Technical Documents**, b) second folder: **Financial Documents**.
- 5. Email the 2 compressed folders to Ms. Jessamine C. Ecleo at **jessamine.ecleo@vsu.edu.ph** before the deadline.

III. Changes in the Bidding Documents

Original	
Section I. Invitation to Bid	(Amendment)
5. A complete set of Bidding Documents may be acquired by interested Bidders on 21 February – 13 March 2024 until 8:30 AM from the given address and website(s) below and upon payment of the applicable fee for the Bidding Documents, pursuant to the latest Guidelines issued by the GPPB, in the amount of Five Thousand Pesos (PhP 5,000.00). The Procuring Entity shall allow the bidder to present its proof of payment for the fees in person, by facsimile, or through electronic means.	5. A complete set of Bidding Documents may be acquired by interested Bidders on 21 February – 13 March 2024 until 8:30 AM from the given address and website(s) below and upon payment of the applicable fee for the Bidding Documents, pursuant to the latest Guidelines issued by the GPPB, in the amount of Five Thousand Pesos (PhP 5,000.00). The Procuring Entity shall allow the bidder to present its proof of payment for the fees in person, by facsimile, or through electronic means: The Bidders may deposit the payment for the bidding documents to the Visayas State University Landbank Account with the following details: Account Name: Visayas State University Fund 164 Account Number: 3572-1000-13 Then send the deposit slip to jessamine.ecleo@vsu.edu.ph
Section II. Instructions to Bidders	(Additional Instructions)
15. Sealing and Marking of Bids	Bidders are requested to submit three (3) copies of its bid – 1 Original, Copy 1, and Copy 2.
	For filing purposes, the bidders are urged to use Orange envelopes for its Technical and Financial Component envelopes, including the Mother (outer) Envelope.



Section VI. Schedule of Requirements

All Items Should Be Delivered to **VSU Main Campus, Visca, Baybay City, Leyte** within **45 Calendar Days** from receipt of Notice To Proceed (NTP) and Purchase Order.

(Amendment)

 a. All Items Should Be Delivered to VSU Main Campus, Visca, Baybay City, Leyte within 30 Calendar Days from receipt of Notice To Proceed (NTP) and Purchase Order

IV. Revised List of Goods and Technical Specifications

- Some Specifications were added (in red font) and/or deleted (in blue font)
- Some Quantities and Unit Prices (ABC) were changed

Item No.	Description	Unit	Qty	ABC/Unit (Pesos)	Total ABC (Pesos)
1	18" STAND FAN	pcs	11	2,500.00	27,500.00
	Product Overview				
	Reliability (Motor Life)				
	Performance: 7,000 hours				
	Energy Efficient				
	Less Power Consumption				
	Energy Savings up to 10% with the new motor				
	vs. Existing				
	New Modern Design				
	Elegant Design				
	New Modern "Minimalist" Design				
	Warranty				
	Parts: 1 year				
	Labor: 1 year				
	Motor Warranty: 3 Year				
	General Specifications				
	Blade Material / Size, cm: PP / 40				
	Wattage (W, Max): 60				
	RPM (Max): 1350				
	Air Delivery (\M3/min. Max): 119				
	Max Center Height, mm: 1,197				
	Height Adjustment: Free Stop Mechanism				
	Stroke, mm: 150				
	Switch Type: 3 Speed Piano Switch				
	Vertical Angle Adjustment: Free Neck				
	Oscillation: Double				
	Color: Black				
2	18" Wall Mount Oscillating Hydroponic Fan	рс	20	2,500.00	50,000.00
	Keeps room and leaf temperatures down				
	Smooth and quiet operation				
	90° oscillating action				



	Pull to change speed and Pull for oscillating or				
	one position.				
	Assembly required				
	7 todombiy roquirou				
3	2 BURNER GAS STOVE	рс	3	2,000.00	6,000.00
	■Heavy duty gas stove	Ρ-		2,000.00	
	■High quality fuel-efficient burner				
	■Durable metal gas ignition controls				
	■Stainless metal gasket and body				
	■Auto-ignition burner				
	■# of burners: 2				
	■Dimensions: (W x L X D) 71 x 35.5 x 8.5cm				
	28 x 14 x 3.3 inches				
	■Burner diameter: 9cm 3.5 inches Outer ring				
	diameter: 22.5cm 8.9 inches				
	Space in between outer rings: 20cm 7.9 inches				
——					
	⊠ Warranty: 1 year				
4	■Warranty: 1 year Air Condition, Split type, Inverter, 1.5 HP	set	6	45,000.00	270,000.00
4	■Warranty: 1 year Air Condition, Split type, Inverter, 1.5 HP Wattage: 1250 Watts	set	6	45,000.00	270,000.00
4	Marranty: 1 year Air Condition, Split type, Inverter, 1.5 HP Wattage: 1250 Watts EER Rating: 14.26	set	6	45,000.00	270,000.00
4	■Warranty: 1 year Air Condition, Split type, Inverter, 1.5 HP Wattage: 1250 Watts EER Rating: 14.26 WindFree Technology	set	6	45,000.00	270,000.00
4	Warranty: 1 year Air Condition, Split type, Inverter, 1.5 HP Wattage: 1250 Watts EER Rating: 14.26 WindFree Technology Digital Inverter Boost	set	6	45,000.00	270,000.00
4	■Warranty: 1 year Air Condition, Split type, Inverter, 1.5 HP Wattage: 1250 Watts EER Rating: 14.26 WindFree Technology Digital Inverter Boost Fast Cooling	set	6	45,000.00	270,000.00
4	Marranty: 1 year Air Condition, Split type, Inverter, 1.5 HP Wattage: 1250 Watts EER Rating: 14.26 WindFree Technology Digital Inverter Boost Fast Cooling Cooling capacity: at least 12,500 kj/hr	set	6	45,000.00	270,000.00
4	Marranty: 1 year Air Condition, Split type, Inverter, 1.5 HP Wattage: 1250 Watts EER Rating: 14.26 WindFree Technology Digital Inverter Boost Fast Cooling Cooling capacity: at least 12,500 kj/hr Easy Filter Plus	set	6	45,000.00	270,000.00
4	Marranty: 1 year Air Condition, Split type, Inverter, 1.5 HP Wattage: 1250 Watts EER Rating: 14.26 WindFree Technology Digital Inverter Boost Fast Cooling Cooling capacity: at least 12,500 kj/hr Easy Filter Plus DuraFin	set	6	45,000.00	270,000.00
4	Marranty: 1 year Air Condition, Split type, Inverter, 1.5 HP Wattage: 1250 Watts EER Rating: 14.26 WindFree Technology Digital Inverter Boost Fast Cooling Cooling capacity: at least 12,500 kj/hr Easy Filter Plus DuraFin Triple Protector Plus	set	6	45,000.00	270,000.00
4	Marranty: 1 year Air Condition, Split type, Inverter, 1.5 HP Wattage: 1250 Watts EER Rating: 14.26 WindFree Technology Digital Inverter Boost Fast Cooling Cooling capacity: at least 12,500 kj/hr Easy Filter Plus DuraFin Triple Protector Plus Quiet Mode	set	6	45,000.00	270,000.00
4	Marranty: 1 year Air Condition, Split type, Inverter, 1.5 HP Wattage: 1250 Watts EER Rating: 14.26 WindFree Technology Digital Inverter Boost Fast Cooling Cooling capacity: at least 12,500 kj/hr Easy Filter Plus DuraFin Triple Protector Plus Quiet Mode Single User Mode	set	6	45,000.00	270,000.00
4	Air Condition, Split type, Inverter, 1.5 HP Wattage: 1250 Watts EER Rating: 14.26 WindFree Technology Digital Inverter Boost Fast Cooling Cooling capacity: at least 12,500 kj/hr Easy Filter Plus DuraFin Triple Protector Plus Quiet Mode Single User Mode R32 Refrigerant	set	6	45,000.00	270,000.00
4	Marranty: 1 year Air Condition, Split type, Inverter, 1.5 HP Wattage: 1250 Watts EER Rating: 14.26 WindFree Technology Digital Inverter Boost Fast Cooling Cooling capacity: at least 12,500 kj/hr Easy Filter Plus DuraFin Triple Protector Plus Quiet Mode Single User Mode R32 Refrigerant 12x Tapping Screw	set	6	45,000.00	270,000.00
4	Marranty: 1 year Air Condition, Split type, Inverter, 1.5 HP Wattage: 1250 Watts EER Rating: 14.26 WindFree Technology Digital Inverter Boost Fast Cooling Cooling capacity: at least 12,500 kj/hr Easy Filter Plus DuraFin Triple Protector Plus Quiet Mode Single User Mode R32 Refrigerant 12x Tapping Screw 4x Rubber Foot (Outdoor Package)	set	6	45,000.00	270,000.00
4	Air Condition, Split type, Inverter, 1.5 HP Wattage: 1250 Watts EER Rating: 14.26 WindFree Technology Digital Inverter Boost Fast Cooling Cooling capacity: at least 12,500 kj/hr Easy Filter Plus DuraFin Triple Protector Plus Quiet Mode Single User Mode R32 Refrigerant 12x Tapping Screw 4x Rubber Foot (Outdoor Package) 2x Remote Control Batteries	set	6	45,000.00	270,000.00
4	Air Condition, Split type, Inverter, 1.5 HP Wattage: 1250 Watts EER Rating: 14.26 WindFree Technology Digital Inverter Boost Fast Cooling Cooling capacity: at least 12,500 kj/hr Easy Filter Plus DuraFin Triple Protector Plus Quiet Mode Single User Mode R32 Refrigerant 12x Tapping Screw 4x Rubber Foot (Outdoor Package) 2x Remote Control Batteries Mounting Bracket	set	6	45,000.00	270,000.00
4	Air Condition, Split type, Inverter, 1.5 HP Wattage: 1250 Watts EER Rating: 14.26 WindFree Technology Digital Inverter Boost Fast Cooling Cooling capacity: at least 12,500 kj/hr Easy Filter Plus DuraFin Triple Protector Plus Quiet Mode Single User Mode R32 Refrigerant 12x Tapping Screw 4x Rubber Foot (Outdoor Package) 2x Remote Control Batteries Mounting Bracket wall mounted	set	6	45,000.00	270,000.00
4	Marranty: 1 year Air Condition, Split type, Inverter, 1.5 HP Wattage: 1250 Watts EER Rating: 14.26 WindFree Technology Digital Inverter Boost Fast Cooling Cooling capacity: at least 12,500 kj/hr Easy Filter Plus DuraFin Triple Protector Plus Quiet Mode Single User Mode R32 Refrigerant 12x Tapping Screw 4x Rubber Foot (Outdoor Package) 2x Remote Control Batteries Mounting Bracket wall mounted EER rating above 10	set	6	45,000.00	270,000.00
4	Marranty: 1 year Air Condition, Split type, Inverter, 1.5 HP Wattage: 1250 Watts EER Rating: 14.26 WindFree Technology Digital Inverter Boost Fast Cooling Cooling capacity: at least 12,500 kj/hr Easy Filter Plus DuraFin Triple Protector Plus Quiet Mode Single User Mode R32 Refrigerant 12x Tapping Screw 4x Rubber Foot (Outdoor Package) 2x Remote Control Batteries Mounting Bracket wall mounted EER rating above 10 with remote control	set	6	45,000.00	270,000.00
4	Air Condition, Split type, Inverter, 1.5 HP Wattage: 1250 Watts EER Rating: 14.26 WindFree Technology Digital Inverter Boost Fast Cooling Cooling capacity: at least 12,500 kj/hr Easy Filter Plus DuraFin Triple Protector Plus Quiet Mode Single User Mode R32 Refrigerant 12x Tapping Screw 4x Rubber Foot (Outdoor Package) 2x Remote Control Batteries Mounting Bracket wall mounted EER rating above 10 with remote control with one year warranty on parts and services	set	6	45,000.00	270,000.00
4	Marranty: 1 year Air Condition, Split type, Inverter, 1.5 HP Wattage: 1250 Watts EER Rating: 14.26 WindFree Technology Digital Inverter Boost Fast Cooling Cooling capacity: at least 12,500 kj/hr Easy Filter Plus DuraFin Triple Protector Plus Quiet Mode Single User Mode R32 Refrigerant 12x Tapping Screw 4x Rubber Foot (Outdoor Package) 2x Remote Control Batteries Mounting Bracket wall mounted EER rating above 10 with remote control	set	6	45,000.00	270,000.00



5	Air Condition, Split type, Inverter, 2.0 HP	set	2	55,000.00	110,000.00
	■Cooling capacity: at least 18,500 kj/h				
	■wall mounted				
	■EER rating above 10				
	■with Quiet Mode				
	■with remote control				
	■with Anti bacterial air filter				
	■with Micro Dust Filter				
	■with at least 10 years compressor warranty				
	■offer must be in the market for at least 10				
	years				
	■with at least 10-Year Warranty on Compressor				
	■with one year warranty on parts and services				
	with free installation with free 10 feet copper tube				
6	Aircon Split Type (1.5 HP), Inverter type	unit	4	49,000.00	196,000.00
	Dimensions				
	Net Dimensions (W x H x D):				
	Indoor - 779mm x 290mm x 209mm				
	Outdoor - 780mm x 542mm x 289mm				
	Gross Dimensions (W x H x D):				
	Indoor - 861mm x 364mm x 255mm				
	Outdoor - 891mm x 603mm x 396mm				
	Power Requirements:				
	230 V				
	Power Consumption:				
	750 W				
	General Specifications				
	Remote: Yes				
	Timer: Yes				
	Cooling Capacity: 11,020 kj/h				
	Control Type: With remote				
	Cooling Area (sq. meters): Survey is				
	recommended				
	Noise Level (Indoor) – Low: 28dB				
	Filter: Yes				
	Airflow Direction Control (Up & Down):				
	Automatic				
	Airflow Direction Control (Left & Right): Manual				
	Temperature Control: With remote				
	Fan Speed: 5 Speed Level				
	Energy Efficiency Ratio: 14.69				
	five (5) years warranty on compressor and 1				
	year for parts and services				
	with free installation with free 10 feet copper tube				
7	Aircon Split Type 2.5 HP Inverter , With Installation	unit	4	58,000.00	232,000.00
	Capacity: 2.5HP				
	Power Supply: 220,230,60,1 V, Hz, Ph				



	0 " 0 " 04000 "	1			
	Cooling Capacity: 24,000 Btu/h				
	Cooling Input: 2,000W				
	Cooling Current: 8.7A				
	EER: 12.7				
	Indoor Unit				
	Air Flow (Hi/Mi/Lo): 1063x955x759 m3/h				
	Noise Level (Hi/Mi?Lo): 50/–/40 dB (A)				
	Unit Dimension (W*D*H) : approx.				
	1080x336x326mm (Indoor Unit)				
	Outdoor Unit				
	Compressor Type: Rotary				
	Unit Dimension (W*D*H) : Approx.				
	845x363x702mm (outdoor unit)				
	Application Area: 29-43sqm				
	One (1) year warranty on parts and service five				
	(5) years on compressor provided that the unit				
	is installed by accredited installation team				
	with free installation with free 10 feet copper tube			44.000.00	100 000 00
8	Aircon, Split Type, 1HP (Inverter)	unit	3	44,000.00	132,000.00
	Features:				
	* High-density Dust Filter				
	* Smooth Frequency Control				
	* Gold Fin Protection				
	* Silver Ion Filter				
	* Sleep Mode				
	* Turbo Mode				
	* Louver Position Memory				
	* Fast Cooling				
	*with remote control				
	Specifications:				
	* 1.0HP Inverter				
	* 9,500 (2,900-11,000) Cooling Capacity (kJ/hr)				
	* 230V, 1Ph, 60Hz Power Supply (V-Ph-Hz)				
	* 700 (290-990) Power Input (W)				
	* 4.32 CSPF				
	* R32 Refrigerant				
	* 39.5/34/32 dB (A) Sound Level (H/M/L)				
	1 year warranty				
	five (5) years warranty on compressor	<u> </u>		<u> </u>	
	with free installation with free 10 feet copper tube				
9	Airconditioning Unit, Inverter type	рс	2	80,000.00	160,000.00
	Split Type, Air-conditioning Unit with 2.5 HP				•
	Remote control with 24 hours programmable timer ON/OFF				
	Cooling Capacity (min-max): 6.10 (1.12-7.18) kW, 21,960 (4,030-25,850) kJ/h				
	EER (min-max): approx. 14.17 (16.12-12.61) kJ/hW,				



	1/-#0201/			1	
	Voltage: 230 V				
	Current: approx. 6.9 A				
	five (5) years warranty on compressor and one				
	year on parts and services				
40	with free installation, with free 10 feet copper tube			44.500.00	00 000 00
10	Bottom Loading Water Dispenser	рс	2	14,500.00	29,000.00
	Product Model: JD-8044-delete				
	Voltage/frequency: 220V~50Hz				
	Cooling Power: 75W				
	Heating Power Warm & Hot: Rated Power: 425W, Heating Power: 425W				
	Cold & Hot: Rated Power: 500W, Heating Power: 425W				
	Carton Size: 355x325x1040mm				
	Actual Product Size: 320x285x980mm				
	Hot Water Temperature: 85 - 95 Degree Celsius				
11	DEEP FREEZER	unit	1	30,000.00	30,000.00
	■DEEP FREEZER 13 CUBIC FEET CHEST			<u> </u>	•
	FREEZER or higher				
	■ WIRE BASKET SHELVING MATERIAL,				
	approx. 216 WATTS; NO FROST; WITH				
	INVERTER or higher				
	© CHARCOAL DEODORIZER. 220V or auto				
	voltage				
12	Dehumidifier for Extra Large Rooms and Basements	рс	1	19,300.00	19,300.00
	Includes: Washable Filter, Built-in Handles and				
	Wheels, Drain Hose Outlet				
	Weight: at most 40 lbs				
	Rated Current: approx. 4.7 Amps				
	Moisture Removal: 70 pints per day				
	Air CFM Range (cubic feet per minute): 165				
	(Normal) to 188 (Turbo)				
	Removable Water Tank Capacity: at least 1.6			†	
	gallons / 6 liters				
	Certifications: UL & Energy Star rated			†	
	Features: Touch Control Panel; Auto Restart,			†	
	Shut Off, Defrost; Turbo Mode; Continuous				
	Dehumidifying; 24-hour Timer; Custom Humidity				
	Level from 35% to 85%				
	Spaces between 2500 and 4000 square feet,				
	with room temp from 41°F to 95°F				
	Power: 220/240V				
13	Digital Duplicator Machine, Copy printer, 300x600 DPI printing	set	1	150,000.00	150,000.00
	Master Making/Printing Methods: High-speed			1	
	digital master-making/Fully automatic printing			•	
	Scanning: 600 dpi × 600 dpi				



	,			1	
	Maximum Scanning Area: 297 mm × 432 mm				
	Print Paper Weight: 46 gsm to 157 gsm				
	Print Paper Size: 100 mm × 148 mm to 310 mm				
	× 432 mm				
	Maximum Printing Area: 210 mm × 357 mm				
	Paper Feed Tray Stacking Capacity: 1000				
	sheets*2, stacking height of 110 mm or lower				
	Paper Receiving Tray Stacking Capacity: 1000				
	sheets*2, stacking height of 110 mm or lower				
	Print Speed: 5 levels: 60, 80, 100, 120 and 130				
	ppm				
	Functions: Original Scanning mode, Scanning				
	Level, Enlargement/Reproduction, Dot Process,				
	2-Up, Book, Ink Saving, Quick Master Making,				
	ADF-Semi-Auto*3, Speed, Density, Print				
	Position, Program A/B, Job Separation*3, Idling, Confidential, Meter Display, Count Report				
	Output, Proof, Direct Printing, USB Flash-via-				
	Printing, Auto Sleep Setting, Auto Power-OFF				
	Setting, ECO mode, RISO iQuality System				
	Ink Supply: Full automatic (1000 ml/cartridge)				
	Dry Seal, Customized Machine Engraved,				
14	Stainless Steel Material	unit	2	4,000.00	8,000.00
15	Electric fan	рс	8	2,500.00	20,000.00
	Stand fan 16" metal blade				
	■ Adjustable height				
	■three speed controller				
16	Floor Standing Mounted Airconditioner Non-	unit	4	80,000.00	320,000.00
10	inverter	unit		00,000.00	320,000.00
	■At least 4.0HP				
	■Energy Saving Compressor, 3D Air Delivery				
	System				
	■with Sleep Mode				
	■with Auto On / Off Timer				
	owith High Efficiency Air Filter				
	⊚ with Remote Control				
	■Air Conditioner Rated Capacity (BTUs) at				
	least 2.5				
	five (5) years warranty on compressor and one				
	year on parts and services				
4-	with free installation, with free 10 feet copper tube	• •		45.000.00	4
17	Gas Stove, 4 Burners, Heavy Duty	unit	1	15,000.00	15,000.00
	4 Gas Burners				
	Rust Proof				
I					
	Black Enamel Pan Support				
	Black Enamel Pan Support 0.5mm Painted cold-rolled steel Side panel				
	Black Enamel Pan Support 0.5mm Painted cold-rolled steel Side panel 0.4mm Stainless Steel Surface				
	Black Enamel Pan Support 0.5mm Painted cold-rolled steel Side panel				



	90mm Double				
	Cast Iron Burner with Stainless Steel Burner				
	Cover				
	Automatic Ignition				
	Save Gas More than 30%				
	Quantity: 1set				
	Net Weight: 7.2kg				
	Unit Dimension: 480x570x125mm				
18	Wet and dry vacuum cleaner, 10L	рс	1	5,000.00	5,000.00
	Power input: 1000W	Po		0,000.00	0,000.00
	Airflow: 35l/s				
	Capacity: 10 Liters or 3 Gallons				
	Cord Length: 3m				
	4 in 1 application: wet, dry, indoor & outdoor				
	Strong handle for easy carrying				
	Large switch button with waterproof design for				
	safe & easy operation				
40	Comes with complete accessories	••		40.000.00	40.000.00
19	Heavy Duty Combo Binding Machine	unit	1	18,000.00	18,000.00
	ΦSpecs:				
	■Maximum Punching Sheets: 25				
	■Max Size: LS, F4, A4, Extra Long				
	■Selectable Punching Pins: 24 slots				
	■Net Weight: 12.5kgs				
20	Heavy Sheetfed Scanner	рс	1	48,000.00	48,000.00
	Technology:				
	Scanner Type: Sheetfed Scanner				
	Optical Resolution (ADF): 600 DPI x 600 DPI				
	(Horizontal x Vertical)				
	Optical Resolution: 600 DPI x 600 DPI				
	(Horizontal x Vertical)				
	ADF Minimum Document Size: 50.8 mm x				
	50.8 mm (Horizontal x Vertical)				
	ADF Maximum Document Size: 215.9 mm x				
	6,096 mm (Horizontal x Vertical)				
	Paper Formats:				
	A4 (21.0x29.7 cm), A5 (14.8x21.0 cm), A6				
	(10.5x14.8 cm), B6 (12.5x17.6 cm), B5				
	(17.6x25.7 cm), B4 (25.7x36.4 cm), Letter,				
	Legal, Postcard, Business cards, Plastic cards				
	Scanning color depth:				
	Input: 30 Bits Color / 10 Bits Monochrome,				
	Output: 24 Bits Color / 8 Bits Monochrome				
	Ultrasonic Sensor: Yes				
	High Capacity, General Office				
	Scanner:				
	Light Source: ReadyScan LED technology				
	Output Resolution:1200 DPI				
	Scanning Speed:				



$\overline{}$, , , , , , , , , , , , , , , , , , , ,			
	Monochrome: 65 pages/min -				
	Color: 65 pages/min measured with Size: A4,				
	Resolution: 200 / 300 dpi,				
	Monochrome: 130 image/min -				
	Color: 130 image/min measured with Size: A4,				
	Resolution: 200 / 300 dpi				
	Paper / Media Handling				
	Paper Setting Capacity:100 Sheets				
	Auto loading: 27 - 413 g/m ²				
	Automatic Document Feeder Type				
	Single pass dual scanning				
	Reliability Daily Duty Cycle: 7,000 pages				
	Automatic Document Feed:100 pages				
	Duplex Scan: Yes				
	Scanning Features				
	Output formats:BMP, JPEG, TIFF, multi-TIFF,				
	PDF, searchable PDF, PDF/A, PNG				
	File compression features:Hardware JPEG				
	compression, TIFF Compression (JPEG(7),				
	CITT G4, LZW), PDF Compression				
	Advanced document integration:Scan to Email,				
	Scan to FTP, Scan to Microsoft SharePoint®,				
	Scan to Print, Scan to Web folders, Scan to				
	Network folders				
	Scanning Volume:7,000 Pages per day				
	Connectivity:				
	Interfaces:USB 2.0 Type B, USB 3.0 Type B				
	Options: Roller Assembly Kit				
21	Hot & Cold water dispenser	unit	6	14,500.00	87,000.00
	Bottom load water dispenser				
	3 Faucets: Hot, Cold and Normal water function				
	3-Push Button dispensing control				
	Anti-scald safety lock switch				
	Child Lock Safety feature on Hot Water Faucet				
	Floater indicator to avoid water overflow				
	Capacity: Hot - 1.2 Liters, Cold - 3.5 liters,				
	Power Rating: Hot - 420 watts, Cold - 100				
	watts, R134a				
22	Laminator	рс	1	5,000.00	5,000.00
	A4 Hot and Cold Laminating Machine			1,111	
23	Microwave Oven	unit	1	15,000.00	15,000.00
	Capacity: 32 litres			,,,,,,,,,,	,
	Dimension: 517 x 297 x 384mm			 	
	Power source: 220V / 60Hz			1	
	Power Consumption: 1500W			+	
	Mirrorless Camera, 24.1MP, 3" LCD Monitor,				
24	4K Video	unit	1	54,000.00	54,000.00
	AF Modes - Stills: One-Shot AF, Servo AF,				
	Manual Movie recording: One-Shot AF, Movie				
L				1	



$\overline{}$			
	Servo AF, Manual		
	AF Point Selection - Automatic selection,		
	Manual selection		
	AF System Points - Stills: Max. 3975 selectable		
	AF point positions / Up to 143 zones (auto		
	selection)		
	Movie recording: Max. 3375 selectable AF point		
	positions / Up to 117 zones (auto selection)		
	Built-in Flash		
	Closest Focusing Distance (cm) - 25	1	
	Continuous Shooting Speed (Shots Per Sec)		
	(Up To) - 10 (One-Shot AF) / 7.4 (Servo AF)		
	Digital Zoom - Approx. 3-10x (for movie		
	recording only)		
	Drive System - Stepping Motor-driven lead		
	, , ,		
	screw + rack system		
	Effective ISO - Stills: 100 - 25,600 (H:51,200),		
	Movie (full HD/HD): 100 - 12,800 (H: 25,600),		
	Movie (4K): 100 - 6,400		
	Exposure Compensation - ±3 stops in 1/3-stop		
	increments, AEB: ±2 stops in 1/3-stop		
	increments	<u> </u>	
	Eye Detection AF - One-Shot AF / Servo AF /		
	Movie Servo AF		
	Flash Modes - E-TTL II Autoflash, FE Lock,		
	Manual pop-up, Retractable, Built-in		
	Focal Length (35mm Equivalent) - 24 -		
	72mm(3x)		
	Guide Number ISO 100 metres - 5		
	Image Resolution - 6000 x 4000 (L), 3984 x		
	2656 (M), 2976 x 1984 (S1), 2400 x 1600 (S2),		
	6000 x 4000 (RAW/C-RAW)		
	Image Stabilizer - Stills: Lens shift type, Movie		
	recording: Lens shift type & In-body 5-axis		
	electronic image stabilization (movie recording		
	only)		
	with Manual Focus		
	Memory Card Type - SD, SDHC*, SDXC*,		
	*UHS-I cards compatible		
	Metering Mode - Stills: Evaluative, Partial, Spot,	1	
	Center-weighted average, Movie: Evaluative		
	(when faces are detected with		
	[Face+Tracking]), Center-weighted average		
	(when no faces are detected)		
	Processor Type - DIGIC 8		1
	Sensor Size - APS-C	1	
	Shooting Modes - Stills: Scene Intelligent Auto,	+	1
	Hybrid Auto, Special scene modes (Self		
	Portrait, Portrait, Smooth Skin, Landscape,		
	Sports, Panning, Close-up, Food, Night Portrait,		
	oports, i anning, Giose-up, i oou, ivigiit roittait,		



	Handheld Night Scene, HDR Backlight Control,				
	Silent Mode), Creative filters (Grainy B/W, Soft				
	focus, Fish-eye effect, Water painting effect,				
	Toy camera effect, Miniature effect, HDR art				
	standard, HDR art vivid, HDR art bold, HDR art				
	embossed), Program AE, Shutter-priority AE,				
	Aperture-priority AE, Manual Exposure, Movie				
	recording: Movie auto exposure, Movie manual				
	exposure				
	Shutter Speed Range (Sec.) - Stills: 30 -				
	1/4000, Bulb, Movie recording: 1/25 - 1/4000				
	(PAL) or 1/30 - 1/4000 (NTSC)				
	Standard Power Supply - LP-E12				
	Silent Shutter - Available: Single Shot				
	Still Image Format - JPEG, RAW, RAW +				
	JPEG, C-RAW, C-RAW+JPEG				
	Viewfinder Coverage (Approx.) - 100%				
	Viewfinder Type - 0.39-inch OLED, 2.36million				
	dots, 59.94fps refresh rate				
	White Balance - Auto (Ambience priority), Auto				
	(White priority), Preset (Daylight, Shade,				
	Cloudy, Tungsten light, White fluorescent light,				
	Flash), Custom, Color temperature setting				
	(approx. 2500-10000 K), White balance				
	correction and white balance bracketing				
	features provided, *Flash color temperature				
	information transmission possible				
	X-sync (sec.) - 1/200			10.000.00	12.000.00
25	Paper shredder machine, heavy duty	рс	1	12,000.00	12,000.00
	Shred Type: Cross Cut				
	■Maximum Sheet capacity(70gsm) : 10 Sheets				
	■Waste Container capacity: 21 Liters				
	■Power Source: 220 - 240 VAC				
26	Photography Camera Tripod, Lightweight	unit	1	3,000.00	3,000.00
	Compatible with Mirrorless Camera (Canon,				
	Nikon, Fuji, Pentax, etc.)				
27	Portable Trolley 15" Speaker with wireless	unit	2	10,000.00	20,000.00
	microphone	ut		10,000.00	20,000.00
	■15" 2 Way 480 Watts Powered Portable				
	Sound System				
	■ Plastic Cabinet				
	AC220V or DC12V (With built-in Desharge able Potteries)				
	Rechargeable Batteries)				
	With 2 Wireless Microphone				
	With 2 Mic Input (1 XLR, 1 PL55)				
	With FM Radio, Bluetooth, Guitar Input				
	(Shared with Mic 2 input), USB & SD Port				
	■With 5 Band Equalizer and LCD Display				
1	_1A/(() A / () ! ! ! !	1			
	■With Aux / Line In and Line Out ■With Remote Control, Handle and Wheel				



28	Refrigerator	unit	1	25,000.00	25,000.00
	uses a compressor or evaporator to circulate				-
	cooled air or water around the samples				
	7 cu. ft. or higher HD Inverter No Frost				
	Refrigerator				
	Bottom Freezer				
	Heavy Duty Inverter				
	Energy Efficient Compressor				
	Triple Bottom Freezer Drawers				
	Fresh Zone Drawer (Crisper)				
	Independent Temperature Control for Fridge				
	and Freezer				
	Recessed Handle				
	Stainless Steel Finish				
	Net Weight: 52kg				
	Gross Weight: 57kg				
	Gross Dimension (h:w:d) : 166:55:64 cm				
29	Refrigerator	unit	1	31,000.00	31,000.00
	Transparent door , Upright at least 10 to 12.4				
	Cubic Feet inverter				
	Transparent Anti Frost Double Layered				
	Tempered Glass Door				
	Adjustable Shelves				
	Efficient Cooling				
	Interior Lights				
	Input 220/240V, 50/60 Hz with power cord &				
	plug				
	Automatic voltage stabilizer with time delay				
	restart				
30	Refrigerator- at least 6.0 cu.ft. (Two-door) inverter	рс	1	17,000.00	17,000.00
	■Two-Door Direct Cool Refrigerator				
31	Smart TV, 70" with Android 10 OS or higher	unit	1	50,000.00	50,000.00
	■4K Ultra HD				
	■ Borderless Design				
	■ Chameleon Extreme				
	■Picture Engine				
	■Dolby Digital Plus with 12x12w				
	■Android 10.0 Q				
	■Bluetooth 5.0				
	■Audio: Dolby Digital Plus				
	■DTS TruSurround				
	⊚Equalizer				
	■Quad-Core				
	■Internal Memory: 8GB				
	■RAM: 2GB				
	■With Voice Search				
	■Google Assistant				



	© Chromecast Built-in or Wireless Display				
	■Wi-Fi Connectivity 2.4G				
	© 272R				
	■Android 10.0				
	■Bluetooth 5.1				
	■Display Panel: LED	•			
32	Laminator Machine, A3	unit	2	5,000.00	10,000.00
	■ Heavy Duty, for A3 & A4 size, infrared heating				
	system and adjustable temperature control with				
33	overheating protection		3	60,000,00	400 000 00
33	Aircon, Window Type, 2HP Inverter	unit	3	60,000.00	180,000.00
	2.0 HP, Inverter Window Type				
	R32 Refrigerant				
	High Energy Efficiency Ratio				
	All-DC Motor				
	Room Temperature Display & Setting				
	Air Swing Control				
	Filter Clean Indicator				
	Power Source 230, 60, 1Ø (V, Hz, Ph)				
	Cooling Capacity 18,750 (kJ/h)				
	Current 7.3 (A)				
	Input Power 1563 (W)				
	EER Rating 12.0 (kJ/hW)				
	Recommended Floor Area 23 – 33 m ²				
	Moisture Removal 2.8 (L/h)				
	Noise Level Indoor (dB-A) 51 / 48 (H / L)				
	Air Circulation (indoor) 14.2 m3/min				
	Air Circulation (outdoor) 23.0 m3/min				
	Timer (12-Hour On/Off)				
	Fan Speed				
	Auto / Cool / Dry Mode				
	Powerful mode				
	Sleep Mode				
	Quiet Mode				
	Blue Fin Condenser (anti-corrosion fin)				
	Anti-Bacterial Filter				
	Wireless Remote Control				
	Random Auto Restart				
	with five years warranty on compressor and one				
	year warranty on parts and services				
34	Aircon Split Type (2 HP), Inverter type	unit	2	45,000.00	90,000.00
	Capacity: 2.HP				
	Power Supply: 220,230,60,1 V, Hz, Ph				
	Cooling Capacity: 18,000 Btu/h				
	Cooling Input: 1552W				
	Cooling Current: 6.75A				
	EER: 12.24				
	Air Flow (Hi/Mi/Lo): 848x796x626m3/h				
	1 /				



	Noise Level (Hi/Mi?Lo): 45/39/33 dB (A)				
	Unit Dimension (W*D*H) : 965x203x323mm				
	(Indoor Unit)				
	Refrigerant Type: R32				
	Compressor Type: Rotary				
	Unit Dimension (W*D*H) : 914x343x546mm (
	outdoor unit)				
	Application Area: 23-33 sqm				
	Accessories such as breaker, bracket and				
	copper tubbing not included				
	five (5) years warranty on compressor and one				
	year on parts and services				
	with free installation, with free 10 feet copper tube				
35	Aircon, Window Type, 1.0HP (Inverter)	unit	21	35,000.00	735,000.00
	1HP Inverter, 8-in-1 Filter, R410A			00,000.00	100,000.00
	Energy Savings Feature:				
	24-hour Timer				
	Energy Saving Plug				
	Econo and Sleep Mode				
	EER Rating: 11.6 (10.8 - 10.7)				
	, ,				
	Sleek, Modern Aesthetic				
	Remote Control				
	2 x AAA Batteries				
	With Free Installation				
	1 year warranty on parts and services and five				
	years warranty on compressor			10.000.00	
36	Water Dispenser, Cabinet type	рс	1	10,000.00	10,000.00
	■Floor standing				
	■Hot and cold function				
	■plastic body,high efficiency compressor				
	■thermally protected				
37	Sound System	set	1	55,000.00	55,000.00
	Type:Portable PA System				
	Speaker Drivers:1 x 8" woofer, 1.35"				
	compression driver				
	Number of Mixer Channels:6				
	Number of Mic Preamps:2				
	EQ:Treble, Bass, 5-band Graphic				
	Inputs:2 x XLR (mic), 2 x 1/4" (line), 6 x 1/4" (3 x				
	stereo pair), 2 x stereo RCA, 1 x 1/8" (aux in)				
	Outputs:2 x 1/4" (speaker out)				
	USB:1 x Type A (ULM wireless ready)				
	Bluetooth: Yes				
	Total Power:500W				
	Frequency Response:50Hz-22kHz				
	Microphone:1 x Behringer XM1800S				
	Power Source:Standard IEC AC cable				
	Height:25.9"				
	Delivery 7.1 M	1	l	1 1	



	14/1-141-142-011			 	
	Width:13.9"				
	Depth:34.8"				
	Weight:44.7 lbs.				
38	Sliding Paper Cutter	unit	1	2,550.00	2,550.00
<u> </u>	Working Area: A3 and A4				
<u> </u>	Cutting Capacity: 16 sheets				
	Packing Weight: 5 kg				
	Material: Metal				
	Available Size: A3 and A4				
	Packing Measurement: 56x34x11 cm				
	Other Specifications: Heavy duty for Vinyl,				
	Cardboard Paper				
39	Sony Electret Condenser Microphone for lapel mic (for compatibility)	рс	1	7,000.00	7,000.00
	3.5 mm connector				
40	Vacuum cleaner, wet and dry, 1200 watts	unit	1	13,000.00	13,000.00
	1200 Watts power				
	At least 30L dust/liquid capacity				
	Double stage long life motor				
	With auto shut-off function				
	With blower function				
	Washable ecological HEPA filter				
	At least 3 meters flexible hose				
	At least 9 meters power cord length				
	With handrail/handle for easy transport				
	Accessories:				
	Extension tube				
	Bristle brush				
	Crevice nozzle				
	2-in-1 brush and round brush				
	Floor/carpet brush				
	Wet/dry floor brush				
	Washable HEPA filter				
	Flexible extension tube				
41	Microwave Oven, Digital, Non-Inventer, 13 Power Levels	рс	1	14,000.00	14,000.00
	■30 Liters capacity				
	■Grill and convection				
	■electronic control				
	■dual wave system				
	■13 power levels				
	■900W				
	■Non-Inventer				
42	Hot and Cold Table Top Water Dispenser	unit	1	4,000.00	4,000.00
	Table top water dispenser		-	-,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	2,000.00
	Hot and cold				
	Electronic type cooling				
43	Television, Smart	рс	3	18,000.00	54,000.00



\sim					
	32 inch or higher television, Smart				
	Resolution: 1,366 x 768				
	HDMI Ports: 2				
	USB Ports: 1				
	Power Supply: AC100-240V 50/60Hz				
	Set Size with Stand (WxHxD): 732.9 x 462.8 x				
	163.7 mm				
	Set Size without Stand (WxHxD): 732.9 x 440.3				
	x 78.5 mm				
44	Cordless Kettle	unit	16	1,200.00	19,200.00
	Electric Glass Kettle, Cordless				
	HWK-118GI				
	Power: 230V - 60Hz, 2000W				
	Capacity: 1.8L				
	360 degree rotary base, easy to use with high				
	borosilicate glass body,				
	Durable and stain resistant blue LED light				
	indication when boiling Concealed stainless				
	steel				
	heating element Automatic one button cover				
	starter boiling dry protection Automatically				
	turns off when water boiled.				
45	Active Speaker, 12", 1000W peak two-way,	!4		22 000 00	22 222 22
45		unit	1	33,000.00	33,000.00
	full range				
	-1000 watts(peak) 500 watts (program) -Superior DSP processing with component				
	-1000 watts(peak) 500 watts (program)				
	-1000 watts(peak) 500 watts (program) -Superior DSP processing with component				
	-1000 watts(peak) 500 watts (program) -Superior DSP processing with component protection -12-inch woofers with 2.5-inch voice coils				
	-1000 watts(peak) 500 watts (program) -Superior DSP processing with component protection				
	-1000 watts(peak) 500 watts (program) -Superior DSP processing with component protection -12-inch woofers with 2.5-inch voice coils -1-inch HF compression drivers -90 x 60 deg. HF dispersion				
	-1000 watts(peak) 500 watts (program) -Superior DSP processing with component protection -12-inch woofers with 2.5-inch voice coils -1-inch HF compression drivers				
	-1000 watts(peak) 500 watts (program) -Superior DSP processing with component protection -12-inch woofers with 2.5-inch voice coils -1-inch HF compression drivers -90 x 60 deg. HF dispersion -Dual purpose full-range and wedge monitor				
	-1000 watts(peak) 500 watts (program) -Superior DSP processing with component protection -12-inch woofers with 2.5-inch voice coils -1-inch HF compression drivers -90 x 60 deg. HF dispersion -Dual purpose full-range and wedge monitor speaker -Ultra-clear reproduction throughout the whole audio bandwidth				
	-1000 watts(peak) 500 watts (program) -Superior DSP processing with component protection -12-inch woofers with 2.5-inch voice coils -1-inch HF compression drivers -90 x 60 deg. HF dispersion -Dual purpose full-range and wedge monitor speaker -Ultra-clear reproduction throughout the whole				
	-1000 watts(peak) 500 watts (program) -Superior DSP processing with component protection -12-inch woofers with 2.5-inch voice coils -1-inch HF compression drivers -90 x 60 deg. HF dispersion -Dual purpose full-range and wedge monitor speaker -Ultra-clear reproduction throughout the whole audio bandwidth -Recessed control panel -Master Level control with activity indicator (
	-1000 watts(peak) 500 watts (program) -Superior DSP processing with component protection -12-inch woofers with 2.5-inch voice coils -1-inch HF compression drivers -90 x 60 deg. HF dispersion -Dual purpose full-range and wedge monitor speaker -Ultra-clear reproduction throughout the whole audio bandwidth -Recessed control panel -Master Level control with activity indicator (cabinet level adjustment)				
	-1000 watts(peak) 500 watts (program) -Superior DSP processing with component protection -12-inch woofers with 2.5-inch voice coils -1-inch HF compression drivers -90 x 60 deg. HF dispersion -Dual purpose full-range and wedge monitor speaker -Ultra-clear reproduction throughout the whole audio bandwidth -Recessed control panel -Master Level control with activity indicator (cabinet level adjustment) -3 performance modes, concert, club and				
	-1000 watts(peak) 500 watts (program) -Superior DSP processing with component protection -12-inch woofers with 2.5-inch voice coils -1-inch HF compression drivers -90 x 60 deg. HF dispersion -Dual purpose full-range and wedge monitor speaker -Ultra-clear reproduction throughout the whole audio bandwidth -Recessed control panel -Master Level control with activity indicator (cabinet level adjustment) -3 performance modes, concert, club and monitor				
	-1000 watts(peak) 500 watts (program) -Superior DSP processing with component protection -12-inch woofers with 2.5-inch voice coils -1-inch HF compression drivers -90 x 60 deg. HF dispersion -Dual purpose full-range and wedge monitor speaker -Ultra-clear reproduction throughout the whole audio bandwidth -Recessed control panel -Master Level control with activity indicator (cabinet level adjustment) -3 performance modes, concert, club and monitor -Defeatable 3 channel mixer with level controls				
	-1000 watts(peak) 500 watts (program) -Superior DSP processing with component protection -12-inch woofers with 2.5-inch voice coils -1-inch HF compression drivers -90 x 60 deg. HF dispersion -Dual purpose full-range and wedge monitor speaker -Ultra-clear reproduction throughout the whole audio bandwidth -Recessed control panel -Master Level control with activity indicator (cabinet level adjustment) -3 performance modes, concert, club and monitor -Defeatable 3 channel mixer with level controls and clip indicators				
	-1000 watts(peak) 500 watts (program) -Superior DSP processing with component protection -12-inch woofers with 2.5-inch voice coils -1-inch HF compression drivers -90 x 60 deg. HF dispersion -Dual purpose full-range and wedge monitor speaker -Ultra-clear reproduction throughout the whole audio bandwidth -Recessed control panel -Master Level control with activity indicator (cabinet level adjustment) -3 performance modes, concert, club and monitor -Defeatable 3 channel mixer with level controls and clip indicators -Bluetooth input/streaming, not affected by				
	-1000 watts(peak) 500 watts (program) -Superior DSP processing with component protection -12-inch woofers with 2.5-inch voice coils -1-inch HF compression drivers -90 x 60 deg. HF dispersion -Dual purpose full-range and wedge monitor speaker -Ultra-clear reproduction throughout the whole audio bandwidth -Recessed control panel -Master Level control with activity indicator (cabinet level adjustment) -3 performance modes, concert, club and monitor -Defeatable 3 channel mixer with level controls and clip indicators -Bluetooth input/streaming, not affected by mixer defeat				
	-1000 watts(peak) 500 watts (program) -Superior DSP processing with component protection -12-inch woofers with 2.5-inch voice coils -1-inch HF compression drivers -90 x 60 deg. HF dispersion -Dual purpose full-range and wedge monitor speaker -Ultra-clear reproduction throughout the whole audio bandwidth -Recessed control panel -Master Level control with activity indicator (cabinet level adjustment) -3 performance modes, concert, club and monitor -Defeatable 3 channel mixer with level controls and clip indicators -Bluetooth input/streaming, not affected by				
	-1000 watts(peak) 500 watts (program) -Superior DSP processing with component protection -12-inch woofers with 2.5-inch voice coils -1-inch HF compression drivers -90 x 60 deg. HF dispersion -Dual purpose full-range and wedge monitor speaker -Ultra-clear reproduction throughout the whole audio bandwidth -Recessed control panel -Master Level control with activity indicator (cabinet level adjustment) -3 performance modes, concert, club and monitor -Defeatable 3 channel mixer with level controls and clip indicators -Bluetooth input/streaming, not affected by mixer defeat -2 microphone inputs with level and phantom power				
	-1000 watts(peak) 500 watts (program) -Superior DSP processing with component protection -12-inch woofers with 2.5-inch voice coils -1-inch HF compression drivers -90 x 60 deg. HF dispersion -Dual purpose full-range and wedge monitor speaker -Ultra-clear reproduction throughout the whole audio bandwidth -Recessed control panel -Master Level control with activity indicator (cabinet level adjustment) -3 performance modes, concert, club and monitor -Defeatable 3 channel mixer with level controls and clip indicators -Bluetooth input/streaming, not affected by mixer defeat -2 microphone inputs with level and phantom power -1/4-inch TRS Instrument and Line Inputs				
	-1000 watts(peak) 500 watts (program) -Superior DSP processing with component protection -12-inch woofers with 2.5-inch voice coils -1-inch HF compression drivers -90 x 60 deg. HF dispersion -Dual purpose full-range and wedge monitor speaker -Ultra-clear reproduction throughout the whole audio bandwidth -Recessed control panel -Master Level control with activity indicator (cabinet level adjustment) -3 performance modes, concert, club and monitor -Defeatable 3 channel mixer with level controls and clip indicators -Bluetooth input/streaming, not affected by mixer defeat -2 microphone inputs with level and phantom power -1/4-inch TRS Instrument and Line Inputs -18-inch AUX input for connecting or stereo				
	-1000 watts(peak) 500 watts (program) -Superior DSP processing with component protection -12-inch woofers with 2.5-inch voice coils -1-inch HF compression drivers -90 x 60 deg. HF dispersion -Dual purpose full-range and wedge monitor speaker -Ultra-clear reproduction throughout the whole audio bandwidth -Recessed control panel -Master Level control with activity indicator (cabinet level adjustment) -3 performance modes, concert, club and monitor -Defeatable 3 channel mixer with level controls and clip indicators -Bluetooth input/streaming, not affected by mixer defeat -2 microphone inputs with level and phantom power -1/4-inch TRS Instrument and Line Inputs				



	connection and looping	 			
	, , , , , , , , , , , , , , , , , , ,				
	-Selectable Sub Filter (HPF) for connecting a subwoofer				
46	Wireless Microphone Mic System, 2.4G, 6 channels	unit	2	15,000.00	30,000.00
	■2.4G wireless Microphone Mic System 6				
	channels XLR Connection Built-in				
	Rechargeable Lithium Battery				
	■Compact size 2.4G wireless microphone				
	system, XLR connection, easy to use				
	■less than 4ms ultra-low latency, clear and				
	stable signal transmission				
	■32bit/48Khz high resolution audio quality				
	■Built -in rechargeable lithium battery				
47	Shower Heater with Inverter Booster Pump	unit	10	15,000.00	150,000.0
	Features				
	Sleek and Stylish Casing				
	Energy Saving Inverter DC Pump 50%				
	Silent Below 35dB				
	Double Layer 2K Spray Paint Finish with 3				
	Colour Options				
	Stepless Electronic Power Control				
	Accessories				
	5 Spray Showerhead				
	Slim and Chromed Slider Bar				
	1/4 Turn Valve for turn On/Off Shower				
	Durable, Safe and Hygienic Triple Reinforced				
	Non-Conductive Hose Safety				
	Thermostat with Safety Cut-Out				
	Double Poles ELCB System with 10mA				
	sensitivity				
	Splash Proof IP25 Casing				
	SVF Valve With Built-In Filter				
	INNOVATIVE FEATURES				
	Urban & Stylish Design				
	Adjust To The				
	Temperature You Desire				
	Stepless Electronic Power Control System				
	Desire Temperature				
	Booster Power Icon				
	Energy Saving & SilentPlus Technology				
	Quiet Operation (Below 35dB)				
	Inverter DC Pump Icon				
	Turbo Charge Your Shower with Energy Saving				
	Premium Colour Finish				
	Premium & Long Lasting Colour Finish				
	Double Layer 2K Spray Paint Finish				
	(Colour models only)				
	SAFETY FEATURES				



	High Protection Against Water SplashWater				
	Splash Icon				
	High Protection Against				
	Water Splash				
	Comply with IEC 60529 (IP25) Standard				
	ELCB System Icon				
	The Safest Protection				
	Against Current Leakage				
	Double Poles ELCB				
	complete with accessories				
48	Smart TVs, 50" or higher	set	2	25,000.00	50,000.00
	Display Size: 50"			Í	,
	Ports Input: OTHERS, HDMI, USB, Component				
	in (Y/PB/Pr), RF in (Terrestrial/Cable Input),				
	Digital Audio Out (Optical), Audio Out (Mini				
	Jack), Ethernet (LAN), Composite in (AV)				
	TV Features: Netflix, HDR, Cinema 3D				
	,Wireless Connectivity, Web Browser, Mobile				
	Screen Mirroring, Youtube, DTS Audio,				
	Bluetooth Connectivity				
	TV Resolution: 4K UHD				
40	Smart TV OS: Android OS	••	0.4	0.500.00	00 000 00
49	Stand Fan, 405 mm diameter, 220 volts	unit	24	2,500.00	60,000.00
	■Durable High-performance motor				
	■3-speed push button switch				
	■Thermal fuse protection				
	Oscillation				
	■With height adjustment	! 4	-	4 000 00	0.000.00
50	Exhaust Fan (Industrial wall exhaust fan, 12")	unit	5	1,600.00	8,000.00
51	Wireless Microphone	set	7	5,500.00	38,500.00
	Carrier Frequency: UHF 613 - 870MHz				
	Frequency Steadying: -0.002-				
	Modulating Mode: FM				
	Audio Dynamic Range: Over 70 dB				
	Audio Output Lovel: 0 290mV				
	Audio Output Level: 0 - 280mV S/N Ratio: Over 70bdB				
	T.H.D: -0.5-				
	Sensitivity: 3uVFor30dBS/N			T0711	0.750.000.00
				TOTAL:	3,750,000.00

DILBERTO O. FERRAREN

BAC Chairman